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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2017 

 

Subject Name : Engineering Drawing 

 

Subject Code :  2TE02END1              Branch: Diploma(All) 

    

Semester : 2        Date : 09/05/2017             Time : 02:00 To 05:00   Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Draw neat diagrams and figures (if necessary) at right places. 

(3) Assume suitable data if needed. 

 

Q-1  Attempt the following questions: 

 
(14)  

 a)         The following line is used for visible outlines 

(a)Continuous thick  (b)Continuous thin  (c)Chain thin line  (d)Short zigzag thin 

 

 b)       In aligned system of dimensioning, the dimensions may be read from 

(a)Bottom or right hand edges           (b)Bottom or left hand edges      

(c)Only from bottom                             (d)Only from left side 

 

 c)        The internal angle of regular pentagon is ___ degree. 

       (a)72          (b)108          (c)120         (d)150 

 

 d)        Which of the following is not used to fix drawing sheet on the board?  

(a)Drawing pins          (b)Adhesive tapes          (c)Clips         (d)Thread 

 

 e)       Which polygon is drawn by tri circle method? 

a. (a)Hexagon          (b)Pentagon           (c)Heptagon          (d)Square 

 

 f)       Which side 40mm margin is drawn on trimmed drawing sheet? 

     (a)laft hand side          (b)Right hand side          (c)top side          (d)bottom side 

 

 g)       Which of the following is not a conic curve? 

     (a)Ellipse          (b)Parabola          (c)Hyperbola          (d)Cycloid 

 

 h)  A point „P‟ is above Horizontal Plane (HP) and in front of Vertical Plane (VP). The point 

is in 

(a)First quadrant   (b) Second quadrant   (c)Third quadrant   (d)Fourth quadrant 

 

 i)  The side view of an object is drawn in 

 (a) Vertical plane    (b) Horizontal plane   (c)Profile plane    (d)Any of the above 

 

 j)  When the line is parallel to both Horizontal Plane (HP) and Vertical Plane (VP), we can 

get its true length in 

(a)Front view         (b) Top view          (c) Both „a‟ and „b‟          (d) Side view 

 

 k)  The front view of a rectangle, when its plane is parallel to HP and perpendicular to VP, is 

(a)Rectangle          (b) Square         (c)Line          (d)Point 

 

 l)  The two ways of drawing orthographic projection are 

(a)First angle, second angle               (b) First angle, third angle       

(c)Second angle, third angle             (d)Second angle, fourth angle 

 

 m)  The numbers of principal views are 

(a)Two          (b) Three          (c) Four          (d) Six 

 

 n)  Two planes HP and VP are right angles to each other in the XY-line, this line is called as, 

(a)Centre line       (b) reference line.       (c) Dimension line.    (d) continuous line 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions  

 A Write any seven name of drawing instrument and also write their function 07 

 B Explain any four auto cad commands. 04 
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 C Construct a plain scale to measure 5.55 meter. 03 

Q-3  Attempt all questions  

 A Construct a regular heptagon of 30 mm side using universal method 07 

 B Draw a regular pentagon of 25 mm side using try circle method 07 

Q-4  Attempt all questions  

 A Draw an ellipse by arc of circle method if major axis 140mm and minor axis 100mm 07 

 B Construct a cycloid of 30mm diameter circle. 07 

Q-5  Attempt all questions  

 A The plan and elevation of line PQ 100mm long, measure 80mm and 70mm respectively. 

The end P is 10mm above H.P. and 15mm in front of V.P. Draw the projection of line 

PQ. 

07 

 B A line AB is 75mm long, has its end A is 30mm above H.P. and 25mm in front of V.P. 

the end B is 65mm above H.P. and70mm in front of V.P. Draw the projections of line 

AB. 

07 

Q-6  Attempt all questions  

 A A circular thin plate of 50mm diameter is resting on one of its point on H.P.Its one 

diameter AB inclined at 45
0
 to H.P. and the other diameter CD which is perpendicular to 

AB is at 30
0
 to V.P. Draw its projections 

07 

 B A hexagonal plane of 25mm side is resting on H.P. on one of its side which is inclined at 

30
0
 to V.P. and the plane is inclined at 45

0
 to H.P. Draw the projection of the plane 

07 

Q-7    

  Draw the following views in third angle projection method for given component in figure 

no. 01 

(1) Front view        (2) Top view          (3) right hand side view 

14 

Q-8    

  Draw an isometric drawing for given component in figure no.02 and draw an isometric 

scale. 

14 

 

પ્ર.૧   નીચેના પ્રશ્નોના જલાફ રખો. 
 

(૧૪)  

 A     નીચેનાભાથંી કઈ રાઈનનો ઉ઩મોગ વલઝીફર આઉટરાઈન ભાટે થામ છે? 

    (અ) વ઱ંગ જડી (ફ) વ઱ંગ ઩ાત઱ી (ક) ઩ાત઱ી ચેઈન રાઈન (ડ) ટૂંકી ઩ાત઱ી ઝીગ્ઝાગ  

 

 B     આરાઈન ભેથડભા ંડાઈભેન્વન કઈ ફાજુથી લાચંી ળકામ છે? 

    (અ) નીચેથી અને જભણી ફાજુથી         (ફ) નીચેથી અને ડાફી ફાજુથી  
    (ક) ભાત્ર નીચેની ફાજુથી                  (ડ) ભાત્ર ડાફી ફાજુથી        

 

 C     યેગ્યરુય ઩ચંકોણનો અંદયનો ખણૂો _________ શોમ ચી? 

    (અ) ૭૨ (ફ) ૧૦૮   (ક) ૧૨૦   (ડ) ૧૫૦ 

 

 D     નીચેનાભાથંી કે લસ્ત ુડ્રોઈંગ ળીટને ડ્રોઈંગફોડડ ઩ય ફપક્ષ કયલા ભાટે નથી લ઩યાતી? 

    (અ) ડ્રોઈંગ઩ીન   (ફ) ળેરો ટે઩   (ક) ક્રી઩   (ડ) દોયો 

 

 E     નીચેનાભાથંી કમો ફહકુોણ ટ્રામ વકડર ભેથડથી દોયી ળકામ છે? 

    (અ) ઴ષ્ટકોણ     (ફ) ઩ચંકોણ    (ક) વપ્તકોણ (ડ) ચોયવ  

 

 F     ટ્રીભેડ  ડ્રોઈંગ ળીટની કઈ ફાજુ ૪૦વભવભ ની ભાર્જિન દોયલાભા ંઆલેછે? 

    (અ) ડાફી ફાજુ     (ફ) જભણી ફાજુ       (ક) ઉ઩યની ફાજુ     (ડ) નીચેની ફાજુ      

 

 g     નીચેનાભાથંી કમો કલડ કોવનક કલડ નથી?  
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    (અ) ઈરીપ્વ    (ફ) ઩ેયાફોરા      (ક) શામ઩યફોરા     (ડ) વાઈકરોઈડ  
 H જો ઩ોઈન્ટ P આડી વ઩ાટીની ઉ઩ય અને ઉબી વ઩ાટીની આગ઱ શોમ તો ઩ોઈન્ટ P કમા 

ચયણભા ંશોમ? 

(અ) ઩શરેા ચયણભા ં(ફ) ફીજા ચયણભા ં(ક) ત્રીજા ચયણભા ં(ડ) ચોથા ચયણભા ં 

 

 I  દાગીનાનો ફાજુનો દેખાલ _______ ભા ંદોયલાભા ંઆલેછે? 

(અ) ઉબી વ઩ાટી (ફ) આડી વ઩ાટે (ક) પ્રોપાઈર પ્રેન (ડ) આભાથંી કોઈ ઩ણ  

 

 J જો રાઈન આડી અને ઉબી ફનેં વ઩ાટીને વભાતંય શોમ તો રાઈનની વાચી રફંાઈ ળેભા ં
ભ઱ે? 

(અ) વાભેના દેખાલભા ં(ફ) ઉ઩યના દેખાલભા ં(ક)  અ અને ફ ફનેં (ડ) ફાજુના દેખાલભા ં  

 

 K જો રફંચોયવ પ્રેટ આડી વ઩ાટીને વભાતંય શોમ અને ઉબી વ઩ાટીને રફં શોમ તો તેનો 
વાભેનો દેખાલ કેલો દેખામ? 

(અ) રફંચોયવ (ફ) ચોયવ (ક) રાઈન (ડ) ઩ોઈન્ટ  

 

      L ઓથોગ્રાફપક્ષ્વ પ્રોજેક્ળન દોયલા ભાટેની ફે યીત કઈ છે? 

(અ) પસ્ટ એંગર , વેકન્ડ એંગર   (ફ) પસ્ટ એંગર , થડડ એંગર  
(ક) વેકન્ડ એંગર, થડડ એંગર      (ડ) વેકન્ડ એંગર, પોથડ એંગર       

 

 M મખુ્મ દેખાલ કેટરા શોમ છે? 

(અ) ફ ે    (ફ) ત્રણ      (ક) ચાય     (ડ) છ  

 

 N આડી વ઩ાટી અને ઉબી વ઩ાટી XY રાઈન ઩ય એકફીજાને કાટખણૂે શોમ છે, તો આ રાઈનને 
કઈ રાઈન કશલેાભા ંઆલે છે? 

(અ) વેન્ટય રાઈન   (ફ) યેપયન્વ રાઈન (ક) ડાઈભેન્સ્ન રાઈન (ડ) વ઱ંગ રાઈન   

 

 પ્રશ્ન ૨ થી ૮ ભાથંી કોઈ ઩ણ ચાય પ્રશ્નોના જલાફ રખો. 

પ્ર. ૨   નીચેના ફધા જ પ્રશ્નોના જલાફ રખો.  

 A કોઈ ઩ણ વાત ડ્રોઈંગના વાધનોના નાભ રખો અને તેના કામડ ઩ણ રખો. ૦૭  
 B કોઈ ઩ણ ચાય ઓટોકેડ કભાડં વભજાલો. ૦૪ 

 C ૫.૫૫ ભીટય ભા઩લા ભાટે વાદા સ્કેરની યચના કયો. ૦૩ 

પ્ર. ૩   નીચેના ફધા જ પ્રશ્નોના જલાફ રખો.  

 A ૩૦વભવભ વાઈડ લા઱ા વપ્તકોણની યચના યવુનલવડર ભેથડ થી કયો. ૦૭  
 B ૨૫વભવભ વાઈડ લા઱ો ઩ચંકોણ ટ્રામ વકડર ભેથડ થી દોયો. ૦૭  
પ્ર. ૪   નીચેના ફધા જ પ્રશ્નોના જલાફ રખો.  

 A જેની ભોટી એક્ષીળ ૧૪૦વભવભ અને નાની એક્ષીળ ૧૦૦વભવભ શોમ એલા ઈરીપ્વની યચના 
આકડ ઓપ વકડર ભેથડથી કયો. 

૦૭  

 B ૩૦વભવભ વ્માવ ધયાલતા લતુડ઱ ભાટે વાઈક્રોઈડ દોયો. ૦૭  
પ્ર. ૫   નીચેના ફધા જ પ્રશ્નોના જલાફ રખો.  

 a રાઈન PQ ૧૦૦વભવભ રાફંી છે. તેનો ઉ઩ય નો દેખાલ અને વાભેનો દેખાલ ૮૦વભવભ અને 
૭૦વભવભ છે. રાઈનનો “P” છેડો આડી વ઩ાટીથી ૧૦વભવભ ઉ઩ય છે અને ૧૫વભવભ ઉબી 

૦૭  
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વ઩ાટીથી વાભે છે. તો રાઈનના પ્રોજેક્ળન દોયો.  
 B રાઈન AB ૭૫વભવભ રાફંી છે. રાઈનનો છેડો A ૩૦વભવભ આડી વ઩ાટીથી ઉ઩ય છે અને ૨૫વભવભ 

ઉબી વ઩ાટીની વાભે છે. જમાયે ફીજો છેડો B ૬૫વભવભ આડી વ઩ાટીથી ઉ઩ય છે અને 
૭૦વભવભ ઉબી વ઩ાટીની વાભે છે. તો રાઈનના પ્રોજેક્ળન દોયો.  

૦૭  

પ્ર. ૬   નીચેના ફધા જ પ્રશ્નોના જલાફ રખો.  

 A ૫૦વભવભ વ્માવ ધયાલતી એક ઩ાત઱ી પ્રેટ તેના એક ઩ોઈન્ટ ઩ય આડી વ઩ાટી ઩ય ઩ડરેી 
છે. તેનો એક વ્માવ AB આડી વ઩ાટે વાથે ૪૫૦ નો ખણૂો કયે છે અને ફીજો વ્માવ CD કે જે AB ને 
રફં છે તે ઉબી વ઩ાટી વાથે ૩૦૦ નો ખણૂો કયે છે. તો તેના પ્રોજેક્ળન દોયો. 

૦૭  

 B ૨૫વભવભ વાઈડની ઴ષ્ટકોણ આકાયની ઩ાત઱ી પ્રેટ તેની એક વાઈડ ઩ય આડી વ઩ાટી ઩ય 
઩ડરેી છે. જે ઉબી વ઩ાટી વાથે ૩૦૦ નો ખણૂો કયે છે અને આડી વ઩ાટી વાથે ૪૫૦ નો ખણૂો 
કયે છે. તો તેના પ્રોજેક્ળન દોયો. 

૦૭  

પ્ર. ૭     

   આકૃવત ૦૧ ભા ંઆ઩ેરા દાગીના ભાટે નીચેના દેખાલો તતૃીમ પ્રક્ષે઩ણ ભા ંદોયો. 
(૧) વાભે નો દેખાલ   (૨) ઉ઩ય નો દેખાલ (૩) જભણી ફાજુનો દેખાલ  

૧૪ 

પ્ર. ૮    

  આકૃવત ૦૨ દળાડલેરા દેખાલો ઩યથી આઈવોભેટ્રીક ડ્રોઈંગ દોયો. ૧૪ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure No. 01 
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Figure No.02 

 

 

 


